= L. B39\
T HE e

fhZe (AR01)

THE4 | R7EHEL BN & IWIHE #JITTE (1) DT FHEN Sy 7)1 e fes
) THEX5y SRR
THX 5y - AR - R - A5 Bikk HLAZ ¥ (mifal) e (4m) KR e
FIR BT
= 1
)+
= 1
A L
= 1
el TR W, B 7R AT vy b,
DL, PR ME L, Jiti THRE:5, 000m3
ES m3 620
T
= 1
HE A (BEE2) R+ ffi T B 2 4. omLA |
m3 110
B (L) RS 1 it T 52 2. SmA
m3 1
LR L
= 1
R A i) IEHEREE D A D, BIGHR: L
m2 1
FETALHE T
= 1
T B GRS EAIR Y L&)
m3 600

=N

i




Sl 5 N = P/
| E};& \,'é‘\

fhZe (AR01)

3 EH T
TH4 | R7TEHL AW FH - WIME IIIE (1) FEOFRER XSy )1l
) THEX5y LR
LXKy « LA - FR - A Hiks HL e (iR o (&) R 11 2L

V3w ¥ U0y

m3 600
IE5ER L
= 1
EELT

= 1

PRHE TE b
m3 50

HREL &
m3 20

FEEIE
m2 10

/) =b7"my ) T (av ) =17 ny ) FH)

= 1

BLG T HehfEa ) -} av) )= MK 1 18-8-25 (4R , JEIE 1 43

cm, /& & 25c¢m

m 14

BUGFT /N A 2y ))-b a7 )= bEE 1 18-8-40 (i 4A)
m3 1

3y = (%) 77 ny ) Bl 77 my )}k 1 1=350
m2 73

JIRSA - FLARS (FeA7) WA Bk PR A RC-40
m3 42

=N

i




T

El\’([_\\

fhZe (AR01)

E;I‘; O
THE4 | R7EHEL AW F - WIAE ®IITHE (1) GO PR FEXS SEIPI S
) TS5y e
THFXSy - TFE - FER - A5 ks BT g (FilE) HE (5E) B T 2
B HiAK B #A OFEHE  JEEE B i t=10
m2 3
BT Kiga ) —-b 2y ) =M EFE 1 18-8-25 (5 47)
(158)
m3 0.7
BT Kilga ) -b 2y ) =K 1 18-8-25 (5 47)
(3%)
m3 0.2
B HT Kiigay )y - 2y - MR 18-8-25 (5 4F)
(4%5)
m3 0. 04
ay ) =47 vy ) L (SE7 ny ) )
= 1
ST ny ek 77 ny )y K 2 120mm
m2 1
B HiAK B #A OFEHE  JEEE B i t=10
m2 0.03
PREEGE = T
= 1
LT
= 1
RAE Y T8
m3 100
HWEL +&:
m3 30

=N

i




= L. B39\
T HE e

-

fhZe (AR01)

THE4 | R7EHEL AW F - WIAE ®IITHE (1) GO PR FEXS SEIPI S
) TEXS e
THFXSy - TFE - FER - A5 ks BT o (il HE (5E) B T 2
FEEFEE
m2 20
BT
= 1
et EHA R RE 1+, B
m3 40
AT HERE T (R & HAL)
= 1
) ek BEHE )5 & 2mPd_ESmPL R, ARy
7 5 HERE 2~ MEFE : 18-8-40 (& 4F)
m3 33
I E RS T
=; 1
R T
= 1
BT K PRI 1300, PN 300, 207 ) - MEA& 1 18-
8-25 (FHiIF)
m 18
T T
=; 1
FEEWEE L T
= 1
27— NI U S L EIEW X 5y BERE1E )
m3 2

=N

i




=Ry

El\’(L\\

fhZe (AR01)

J—L:i E:I‘/\
THE4 | R7EHEL BN & IWIHE #JITTE (1) DT = v 7)1 e fes
) THEXS |
THX 5y - AR - R - A5 Biks HLAT ¥ (mifal) ¥ (4) KR e
FREAHIUE L - 5y
m3 8
G an
= 1
A T
= 1
SIS AR A A
AH 24
[EREMIE: -
= 1
B ER
= 1
@R A
= 1
Hffv & ey
= 1
EREE TV Y
= 1
HLimfa (FG L)
= 1
T HE
= 1

=N

i




1.5

-

=Ry

El\’(L\\

H

\I\\

fhZe (AR01)

THE4 | R7EL A F - WIHE mITHE (1) GROFiEm = v iy )1 e fis
) THEXS |
LXKy « LA - FR - A Hiks BT e (iR K& (50) R 11 2L
L5 B
= 1
LU
= 1
— I A
= 1
Tk
= 1
T B4R B Ot 15 0 28 B4
= 1
THEF
= 1

=N

i




T

El\’([_\\

H

\I\\

fh 2% (fff01)

THE4 | R7EHEL BN & IWIHE #JITTE (1) DT HEX S T AR - (&7
) THEX5y MRt TH
THX 5y - AR - R - A5 Biks HLAZ ¥ (mifal) e (4m) KR e

MR TH

= 1
TR AR T
= 1
I[FffmET
= 1
PRARUE S5 TEROFERE: 7 V=M= -8 yIan =5
m2 50
LSS e
m 28
IR RSCRBER: B OV 25 i TN - PRARLIR B ON2 IR BB -
* m3 13
Mk BE TN MR K OG0T - fi
t 3
S T
= 1
EELT
= 1
PRYE Y TE
m3 80
HREL
m3 10

=N

i




T

El\’([_\\

iz (f01)

=S
THE4 | R7EL B F - WIHE mJITHE (1) \EOFHEcd HEX Sy B HERT - (B
) THXsy RS
T XSy - A - FHR - H Fibk HAL g (FE) K& (50) B2 S
bR E TE A (B EARY 5T
m3 70
V3w Ul
m3 70
HEIEYTE L L
= 1
V) - Mg L L HEIEW X Gy - BRI G, TIEIK S
TEL ChHR) 1 T
m3 15
V) - E T L G X 5y BRI E Y, LIEK S
F bR Ft e T
m3 7
TEPRALEE T
= 1
SRR T
t 4
Rt LSy
t 4
X xR 13y ) ) - bk (BRAH)
m3 35
G d%) e FER] 3y ) ) - bk (BkAH)
m3 35
R
K 1

=N

=




1.5

-

=Ry

Eﬂ(é§

H

\I\\

fh 2% (fff01)

THE4 | R7EHEL BN & IWIHE #JITTE (1) DT HEX S T AR - (&7
) THEX5y MRt TH
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
i@ R
= 1
R (5 )
= 1
ol T
= 1
L5 B
= 1
LUl
= 1
— I A
= 1
T EAfliks
= 1
THEBIRE K O 5 1 e B
= 1
THEF
= 1

=N

i




